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In problems 1-8, decide if each statement is True (T) or False (F):

. ‘/’A
1. The complement of an acute angle is acute. T;kw €. Lﬁi_«m
e
2. The supplement of an acute angle is obtuse. dfﬂ{ Fue U ANRE

3. :An angle trisector divides an angle into two congruent parts. 915 €
: 4 _If two angles are supplementary to the same angle, they are congruent. TF we g ’

| 5 ':Pomt A(2-1)is closer to point B (-2, 5) than it is to pomt cq, 1) ?L»a ib & ag fn -

o Verflcal angles are congruent to each other. rvé \/\4
- The vertex of ZLMN is point L. Fﬂ» '
Ifcongruent angles are blsected the pieces are congruent. Tf‘ we-

L Gw_c_n point E at (-1,2), what are the coordinates of:
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2 (* A (a) point F = E reflected over the x-axis: é;"{ 2”5>
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E=(12) (b) point G = E reflected over the y-axis: {gi &)
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10. If QR L ST (a) Name an angle that must be a right angle 4{5@‘@‘ {w JS%N:% P / o )

(b) What is the vertex is this angle? =

11. Tt BD bisects ZABC , what can you say about ZABD and ZDBC? _CABD ZebEC




12. T‘he measure. of ZA is 120 and /B is supplementary to LA
Find the measure of AC it £Ci is complementary to £B.

13 Fxll m thé rmssmg reasons -
' Given: z:ABD isa r1ght angle.
ZCBE is aright angle.

o .Statement Reason

@

.. L.ZABD:is ar1ght angle 1. &ivem
O _--2 ACBE 1s aright angle. 2. givee

o BuZABD = ZCBE 3.4l L s 2P
. 4 ZABE=/CBD 4. gubtachs n (?mgwé;h

o _}_14 Fﬂl inthe missing reasons; (no d1agram needed for this proof)
CGiven: LL =M and ZM = LN
. Prove: ZL=,N

. Statement " Reason

1. ALEL{M ].. él:\i.é;w\
2: ZM = ZN L 2. ervrew

15. If Zlis complementary Mi‘gﬁé&%, Z3is complemeniary lo £4, and
mz4=50°, find m1. t?g;@;

16. Given: ZABD = /EFH
ZDBC = ZHFG

Conclusion: ZA{%Q =1 ‘;{ﬁ F b
Reason: f&'ﬁ?ﬁf #ige ;@??g f!
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17. Given: AK = BK
- AG= BH

Conclusion: Gl T b
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Reason: G

18. Given: £1=100°
L 348=210°
' Find: all the angles in the diagram:

—_
msl= foo® m/5= 4®

o

mi2= Soo ml6 = fio

om3=_ w” mLT=_T"

19. Given: ZA is complementary to /B
£C is complementary to £B
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20. ABCD is a rectangle. .
A S A R (2,2)
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21 zcBa is & right angle. ‘The ratio of m/CBD to mZABD A
. iS21. Find mgCBD. - |
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(dx+60)" [1x +6o =/ B2
e [1X = (20
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23. Given: msAED =5x+2"
mLCEB =3x+10

Find: msAEC [ 1o, SUI
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24. A certain angle is 10 more than 3 times its complement. Find this angle’s supplement.
A = B(ﬁawg 40
X 2 230 ~3x s
Y = 280

Y= 7O

1¥o |
- e

o

g




 Geometry S Name

In problems 1-8, decide if each statement is True (T) or False (F):

1. The complement of an acute angle is acute.

2. 'The supplement of an acute angle is obtuse.

3. An angle trisector divides an angle into two congruent parts.
4. If two angles are supplementary to the same angle, they are congruent.

5. Point A (-2,-1) is closer to point B (-2, 5) than it is to point C (1, —If).

6. Vertical angles are congruent to each other.
7. The vertex of ZLMN is point L.
o 8. If congruent angles are bisected, the pieces are congruent. ___ |

9, Given point E at (-1,2), what are the coordinates of:

1 (a) point F = E reflected over the x-axis:
E=(1,2)] (b) point G =E reflected over the y-axis:
10. If QR L ST: (a) Name an angle that must be a right angle
s

(b) What is the vertex is this angle?

T
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11 I Eﬁ bisects ZABC , what can you say about ZABD and £DBC?

A D




12. The measure of ZA is 120 and £B is supplementary to ZA.
Find the measure of £ C if ZC is complementary to £B.

13. Fill in the missing reasons: : - B
Given: ZABD is aright angle. » oC
ZCBE is aright angle. :
Statement Reason D
1. ZABD is aright angle L.
2. ZCBE is a right angle. 2. A E
3. ZABD = ZCBE 3. '
4. ZABE = ZCBD 4. -

14: Fill in the missing reasons: (no diagram needed for this proof)
Given: £LL= /M and £ZM = ZN
Prove: ZL=JZN

Statement Reason

1. £L=2M 1.

2. LM = /N 2.

3. LL= 4N 3.

15. If Zis complementary to £2, £3is complementary to £4 , and

ms4=50°, find m.21. V

' D
16. Given: ZABD = /EFH A c " s
ZDBC = ZHFG '
Conclusion:

Reason: B h




17. Given: AK = BK

AG=BH
Conclusion:
Reason:

18. Given: £1=100°
L3+ /8 =210°

Find: all the angles in the diagram:

msl =

ml2 =

mL3 =

mld=

meS=

m£.6='

mLT =

mL8=

19. Given: JAis complementary to ZB
- LCis complementary to £B

Conclusion:

Reason:

20. ABCD: is a rectangle.
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E B 1 Tt (b) Find the coordinates of point D:
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S " (c) Find the area of ABCD:
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S i° (d) Find the perimeter of ABCD:
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21. ZCBA isaright angle. The ratio of mZCBD to mZABD
S i82:1. Find mZCBD .

B
22. Find x:
(4x+60)°
23 Given: mLlAED =5x+2
. mZCER=3x+10 A
' Find: mZAEC E
D

24. A certain angle is 10 more than 3 times its complement. Find this angle’s supplement.




